PHYS 543 Fall 2017

Howework 2

Solutions

$$\frac{|Z.1|}{(2)} = \frac{1}{4} ((2+1)) \delta_{mm} = \frac{15}{4} (\frac{1}{4})$$

$$(\frac{1}{4})_{mm} = m + \delta_{mm} = \frac{15}{4} (\frac{1}{4})$$

$$(\frac{1}{4})_{mm} = m + \delta_{mm} = \frac{15}{4} (\frac{1}{4})$$

$$(2+)_{mm} = \frac{1}{4} \sqrt{\frac{15}{4} - \frac{1}{4} (m+1)} \delta_{m,m+1} = \frac{1}{4} \begin{pmatrix} 0.53 \\ 0.73 \\ 0.73 \end{pmatrix}$$

$$(2+)_{mm} = \frac{1}{4} \sqrt{\frac{15}{4} - \frac{1}{4} (m+1)} \delta_{m,m+1} = \frac{1}{4} \begin{pmatrix} 0.53 \\ 0.73 \\ 0.73 \end{pmatrix}$$

$$(4+)$$
/2, -2 = $\sqrt{\frac{15}{4}} + \frac{1}{4} = 2$

$$(\zeta_{+})_{-1/2}, -\frac{3}{2} = \sqrt{\frac{15}{4} - \frac{3}{4}} = \sqrt{3}$$

$$(\zeta_{-})_{mm} = t_{1} \sqrt{\frac{15}{4} - m'(m'-1)} \delta_{mm'd} = t_{1} (\frac{0}{5} \frac{0}{2})$$

$$L_{x} = (L_{+} + L_{-})/2 = \frac{1}{2} \begin{pmatrix} 0 & \sqrt{3} & 0 \\ \sqrt{5} & 0 & 2 \\ 2 & 0 & \sqrt{3} & 0 \end{pmatrix}$$

$$L_g = (L_+ - L_-)/2i = \frac{\pi}{2} \begin{pmatrix} 0 - 3i \\ 5i & 0 - 2i \\ 2i & 0 - 13i \end{pmatrix}$$

$$\mathcal{E} = \frac{1}{4} \begin{pmatrix} \frac{3}{2} & \frac{2}{2} & \frac{2}{2}$$

$$\begin{bmatrix} L_{y} & L_{z} \end{bmatrix} = \frac{t_{1}^{2}}{4} \begin{pmatrix} 0 & \frac{1}{3}i \\ \frac{1}{3}i & 0 & \frac{1}{4}i \\ \frac{1}{2}i & 0 & \frac{1}{3}i \end{pmatrix} - \frac{t_{1}^{2}}{4} \begin{pmatrix} 0 & -\frac{1}{3}i \\ \frac{1}{3}i & 0 & -\frac{1}{4}i \\ -\frac{1}{3}i & 0 & \frac{1}{3}i \end{pmatrix} = \frac{t_{1}^{2}}{4} \begin{pmatrix} 0 & \frac{1}{3}i \\ \frac{1}{3}i & 0 & \frac{1}{3}i \\ -\frac{1}{3}i & 0 & \frac{1}{3}i \end{pmatrix} = \frac{t_{1}^{2}}{4} \begin{pmatrix} 0 & \frac{1}{3}i \\ \frac{1}{3}i & 0 & \frac{1}{3}i \\ \frac{1}{3}i &$$

a) Eigenstetes of
$$\angle_{x}$$
:

$$1 + \frac{3}{7} > = \frac{1}{25} \begin{pmatrix} \frac{1}{12} \\ \frac{1}{12} \\ \frac{1}{12} \end{pmatrix}; \quad 1 + \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ \frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ \frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ \frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{2} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{25} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{25} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{25} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{25} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{25} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{25} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{25} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{25} > = \frac{1}{25} \begin{pmatrix} -\frac{1}{12} \\ -\frac{1}{12} \\ -\frac{1}{12} \end{pmatrix}; \quad 1 - \frac{1}{25} \end{pmatrix}; \quad 1 - \frac{1}{25} \begin{pmatrix} -$$

= to (e,+e) (e, +e2+1)14>

To change from "old" to "new" reference frome, we need to (1) rotate around the 2 axis by I and (2) rotate around the new y axis by -O. The coordinates are then related according to

$$\begin{pmatrix} \zeta_{x} \\ \zeta_{y} \\ \zeta_{z} \end{pmatrix} = \begin{pmatrix} cos & \varphi & -sin & \varphi \\ sin & \varphi & cos & \varphi \\ \zeta_{z} \\ \end{pmatrix} \begin{pmatrix} cos & \varphi & -sin & \varphi \\ -sin & \varphi & cos & \varphi \\ \end{pmatrix} \begin{pmatrix} \zeta_{x} \\ \zeta_{y} \\ \end{pmatrix} \begin{pmatrix} \zeta_{y} \\ \zeta_{z} \\ \end{pmatrix} \begin{pmatrix} \zeta_{x} \\ \zeta_{y} \\ \end{pmatrix} = \begin{pmatrix} cos & \varphi & -sin & \varphi \\ -sin & \varphi & cos & \varphi \\ \end{pmatrix} \begin{pmatrix} \zeta_{x} \\ \zeta_{y} \\ \zeta_{y} \\ \zeta_{y} \\ \end{pmatrix} \begin{pmatrix} \zeta_{x} \\ \zeta_{y} \\ \zeta_{y} \\ \zeta_{y} \\ \end{pmatrix} \begin{pmatrix} \zeta_{x} \\ \zeta_{y} \\ \zeta_{y} \\ \zeta_{y} \\ \end{pmatrix} \begin{pmatrix} \zeta_{x} \\ \zeta_{y} \\ \zeta_{y} \\ \zeta_{y} \\ \zeta_{y} \\ \zeta_{y} \\ \end{pmatrix} \begin{pmatrix} \zeta_{x} \\ \zeta_{y} \\ \zeta_{y} \\ \zeta_{y} \\ \zeta_{y} \\ \zeta_{y} \\ \end{pmatrix} \begin{pmatrix} \zeta_{x} \\ \zeta_{y} \\ \end{pmatrix} \begin{pmatrix} \zeta_{x} \\ \zeta_{y} \\$$

Hence $\langle \langle x \rangle = \cos \Theta \sin \varphi \langle \langle x \rangle - \sin \varphi \langle y \rangle + \sin \Theta \cos \varphi \langle \langle x \rangle$ = $O + O + \sin \Theta \cos \varphi (t_1 w)$

because $\langle \langle \langle \rangle \rangle = \langle \langle \langle \rangle \rangle = 0$ } in state $|\langle \langle \langle \rangle \rangle \rangle = 0$

Similarly,

</y>= Sin \(\theta\) \(\theta\)

</y>
</y>

\(\theta\) = \(\theta\) \(\theta\) \(\theta\)

< 100/3/210> = IV(3) IR = 1 256 243 a

[2.4] Follow the logic of Ex. 4.38 and 4.43. Because R+1 = j < N, only An and An- s survive. They are related by (use $\mathcal{R} = \frac{1}{na}$) (28 (n-1) - 2) An + (n-2)(n-1) - (n-1) N) An = 0 $\frac{2}{a}(-\frac{1}{n})A_{n-1}-2(n-1)A_{n}=0$ An = - 1 An-1 Hence $R(r) = N\left(1 - \frac{1}{u(h+1)} \frac{r}{a}\right) \left(\frac{r}{a}\right)^{p-2} e^{-r/ha}$ Find normalization factor. J R (r) -22r = 1 N2 a2 \[\left(\frac{r}{a}\right)^{2n-2} - \frac{2}{n(n-1)} \left(\frac{r}{a}\right)^{2n-1} + \frac{1}{n^2(n-1)^2} \left(\frac{r}{a}\right)^{2n-2} \] \[\left(\frac{r}{a}\right)^{2n-2} + \frac{1}{n^2(n-1)^2} \left(\frac{r}{a}\right)^{2n-2} \] Change integration variable $X = \frac{2r}{na}$. Then $\frac{r}{a} = \frac{na}{2} \times \frac{na}{2} = \frac{na}{2} dx$ N2 a3 (na) (n) 2n-2 (x2n-2 x x + 1 x2n-2 x 2n 7 e x dx = 1 $N^2 a^3 \left(\frac{n}{2}\right)^{2n-1} \left[(2n-2)! - \frac{(2n-4)!}{(2n-4)!} + \frac{(2n)!}{(2n-1)^2} \right] = 1$ $N^2 a^3 \left(\frac{h}{2}\right)^{2n-1} \left(2n-2\right)! \left[1-\frac{2n-1}{4(n-1)^2}+\frac{2n(2n-1)}{4(n-1)^2}\right]=1$ $N^2 q^3 \left(\frac{n}{2}\right)^{2n-2} \left(2n-2\right)! \left[\frac{4(n-1)^2-4(2n-1)(n-4)+2n(2n-1)}{4(n-1)^2}\right] = 1$ $N^2 a^3 \left(\frac{h}{3}\right)^{2n-2} \left(2n-2\right)! \frac{2n}{4(n-1)^2} = 1$ $N^2 a^3 \left(\frac{n}{2}\right)^{2h-1} \frac{(2h-3)!}{!} = 1$ $N = a^{-3/2} \left(\frac{2}{n}\right)^n \sqrt{\frac{h-4}{2(2n-3)}}$

2.5
$$\langle n | e | m \rangle$$

$$= \int_{0}^{\infty} \int_{0}^{\infty} \int_{0}^{\infty} e^{-r} \sin \theta R_{ne}(r) R_{n'e'}(r) Y_{e'}(\theta + e)^{\frac{1}{2}} Y_{e'}(\theta + e)^{$$

a) For
$$e = m = e' = m' = 0$$
, $y_e' = y_{e'}^{-1} = \sqrt{\frac{1}{4\pi}} = 0$ I $y = 0$

(e)
$$y_0 = \sqrt{\frac{1}{4\pi}}$$
; $y_{10} = \sqrt{\frac{3}{4\pi}}$ cos Θ

do not depend on $Y \Rightarrow I_{\mathcal{H}}(x) = I_{\mathcal{H}}(y) = 0$

$$= -\frac{1}{12} \int_{0}^{1} x^{2} dx = +\frac{1}{12} \frac{3}{3} = \frac{1}{13}$$

C)
$$y_{00} = \sqrt{\frac{1}{4\pi}}$$
; $y_{11} = -\sqrt{\frac{3}{2}}$ And $0 e^{i\varphi}$
 $I_{\chi}(\chi) = -\sqrt{\frac{3}{2}} \frac{1}{4\pi} \int_{0}^{2\pi} \sin^{3}\theta \cos^{3}\theta e^{i\varphi} d\theta d\theta$
 $= -\sqrt{\frac{3}{2}} \frac{1}{4\pi} \int_{0}^{2\pi} \sin^{3}\theta \cos^{3}\theta e^{i\varphi} d\theta d\theta$
 $= -\sqrt{\frac{3}{2}} \frac{1}{4\pi} \int_{0}^{2\pi} \sin^{3}\theta \cos^{3}\theta e^{i\varphi} d\theta d\theta$
 $= -\sqrt{\frac{3}{2}} \frac{1}{4\pi} \int_{0}^{2\pi} \sin^{3}\theta \cos^{3}\theta e^{i\varphi} d\theta d\theta$
 $= -i\sqrt{\frac{3}{2}} \frac{1}{4\pi} \int_{0}^{2\pi} \sin^{3}\theta \cos^{3}\theta e^{i\varphi} d\theta d\theta$
 $= -i\sqrt{\frac{3}{2}} \frac{1}{4\pi} \int_{0}^{2\pi} \sin^{3}\theta d\theta \int_{0}^{2\pi} \sin^{3}\theta d\theta \int_{0}^{2\pi} \sin^{3}\theta d\theta e^{i\varphi} d\theta d\theta$
 $= -i\sqrt{\frac{3}{2}} \frac{1}{4\pi} \int_{0}^{2\pi} \sin^{3}\theta d\theta \int_{0}^{2\pi} \sin^{3}\theta d\theta \int_{0}^{2\pi} \sin^{3}\theta d\theta e^{i\varphi} d\theta d\theta$
 $= -i\sqrt{\frac{3}{2}} \frac{1}{4\pi} \int_{0}^{2\pi} \sin^{3}\theta d\theta \int_{0}^{2\pi} \sin^{3}\theta d\theta e^{i\varphi} d\theta d\theta$
 $= -i\sqrt{\frac{3}{2}} \frac{1}{4\pi} \int_{0}^{2\pi} \sin^{3}\theta d\theta \int_{0}^{2\pi} \sin^{3}\theta d\theta e^{i\varphi} d\theta d\theta$
 $= -i\sqrt{\frac{3}{2}} \frac{1}{4\pi} \int_{0}^{2\pi} \sin^{3}\theta d\theta \int_{0}^{2\pi} \sin^{3}\theta d\theta e^{i\varphi} d\theta d\theta$
 $= -i\sqrt{\frac{3}{2}} \frac{1}{4\pi} \int_{0}^{2\pi} \sin^{3}\theta d\theta \int_{0}^{2\pi} \sin^{3}\theta d\theta e^{i\varphi} d\theta d\theta$
 $= -i\sqrt{\frac{3}{2}} \frac{1}{4\pi} \int_{0}^{2\pi} \sin^{3}\theta d\theta \int_{0}^{2\pi} \sin^{3}\theta d\theta e^{i\varphi} d\theta d\theta$
 $= -i\sqrt{\frac{3}{2}} \frac{1}{4\pi} \int_{0}^{2\pi} \sin^{3}\theta d\theta e^{i\varphi} d\theta d\theta e^{i\varphi} d\theta d\theta$
 $= -i\sqrt{\frac{3}{2}} \frac{1}{4\pi} \int_{0}^{2\pi} \sin^{3}\theta d\theta e^{i\varphi} d\theta d\theta e^{i\varphi}$

G) A QUP @ 0° has operator ilhrethl+ lureul = (i o)

I-put states: (cord)

Output states. (is d)

Block. D= 2d, 4= 1/2 Mexidian through x axis

b) OWP 8 45° has aperador +><+/+/-><-/ $=\frac{1}{2}\binom{1}{1}+\frac{1}{2}\binom{1}{1}=\frac{1}{2}\binom{1+1}{1+1}-\frac{1+1}{1+1}$ Output states. ((cond-smd)+i(cond+smd)) = (4n)

Notice that.

- = 14x/=141= /2
- · erg 4 3 erg 4.
- . erg the fekas all possible values down to be
- =) trajectory is the equator.